ENGR-2060

E.M. - DYNAMICS

NAME

WEEK:

GIVEN:

After subjecting the car design
described in Problem 13.116 to wind tunnel testing,
the students estimate that the tangential component of
the car’s acceleration will be a, = 0.6 — 0.002v° ny/s”,
where v is the car’s velocity in m/s. If the car starts
from rest at A, what are its velocity and acceleration
in terms of normal and tangential components when it
reaches B?

REQUIRED:

SOLUTION:

= : = S0m
Solution: Atpeint B 5 = (2m+T) m

dv 1 vg vdv g
dy = v— = 0.6 —0.002v" = f —_— = I ds
ds o 0.6 — 0002y o

vl E
vp = 1420 mfs, apgs = ——2— = 403 w5
50 m

g, = 0.6 — 0.002(14.20 m/s)> = 0.197 m/s®

Thus

vy = (14.20e;) m's
ag = (0.197¢; + 4.03¢,) m/s”

PROBLEM:

DATE

n

200 m
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